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(C) (m/s) A &[H] U S £ (C)
=0 EEEE BRGNS 0 9y 1 20y 15y T00O0m (06~18h) (18~%06h) | B | [ | (km) | O9WF[ 21
1§16.6 | 5.5 [11.0 [NNW 2.1 |SE 4.0 |s 5.7 |WNW 3.6 |TRAE T H2[11.7 [25.0 | 7.4 | 5.3
2f18.1 | 8.7 |13.5 |ENE 1.0 |ESE 3.0 [E 4.1 |WNW 7.7 |2 2 H3| 8.6 [15.0 | 2.0 | 4.2
3 9.8 7.1 81N 5.2 N 3.0 [E 3.6 |s 6.2 |2 2 F3] 0030 71]56
415.1 [ 6.0 | 9.2 |N 5.7 |NNE 4.0 INE 2.6 |Calm 0.0 [W I H3J10.6 [30.0 | 8.9 | 4.6
5015.3 | 4.4 | 9.7 [N 3.1 |E 3.0 |ESE 3.6 |NNE 7.2 | b PSIE H3f12.2 [30.0 | 7.3 | 1.2
6j19.9 | 7.7 |13.3 |N 1.5 [SE 3.0 |sw 4.6 |Nw 2.1 P i H2J12.0 [20.0 | 5.4 | 3.2
7020.4 [11.3 [15.3 [sw 5.2 |Ssw 7.0 |sw 7.2 |w 4.6 |BH%EELHE | H5) 5.1 200 | 1.7 | 3.7
8]18.5 [15.1 |16.7 [SW 8.2 |sw 9.0 |SSW  10.3 |SW 20.1 |& et —HEH F 2] 0.7 [30.0 |10.2 | 5.5
9f18.6 [13.0 |16.2 |SSW 8.2 |ssw 9.0 |Ssw 9.3 |SSW 211 [Wt—Kr |2 —FFW F2)o5 120 27| 1.8
10017.9 [10.3 |13.6 |E 4.1 |NNE 2.0 |SE 4.1 |wNw 1.5 [Efh el [E4% W H2) 40 (2.0 7.1 5.0
11§19.7 | 8.6 |14.6 |sW 3.1 |SSW 4.0 1S 4.6 |S 8.2 R 2 H3| 86 [15.0] 6.1 5.7
12§17.3 | 7.7 |11.5 |NNW 5.7 |NNE 3.0 |s 4.6 IN 7.7 S H1f10.2 |20.0 [10.5 | 5.7
13211 | 7.1 |14.2 |ssw 3.1 |sw 5.0 |SSW 6.2 |WSw 7.2 Si H4f12.1 [20.0 | 3.4 [-0.4
14§22.7 [10.8 |16.2 N 2.6 |E 3.0 |sw 4.6 IN 1.5 R 4 [ H4f12.1 |15.0 | 6.4 | 2.8
15022.4 [14.7 [17.6 |Wsw 8.2 |Ssw 8.0 |Ssw 7.2 |sw 12.3 = . H4] 5.8 [20.0 | 6.8 | 2.9
16§24.2 [12.4 [17.8 [sw 5.2 |sw 8.0 |sw 4.1 |sw 11.3 I | F1f] 7.0 300 80| 4.3
17§18.1 | 9.8 [13.4 |E 3.1 |ENE 3.0 |s 3.1 |Ssw 3.6 &%E 22 H3| 8.5 |15.0| 85| 4.8
18§17.3 [12.8 |14.9 |ENE 3.1 |ENE 3.0 |ESE 3.6 |SE 4.1 |2 i 2 A L3] 20200 91] 48
19§19.4 | 8.0 [11.8 [N 5.7 |Wsw 3.0 |sw 9.3 |[ENE  15.9 |ZEMrx K i — 2 L2] 39 ]100]50] 20
20015.4 | 6.7 |11.1 |E 3.6 |ENE 4.0 INE 1.5 |wNw P L 2 H1| 7.6 |30.0 | 6.6 | 5.1
21017.3 ] 9.9 [13.0 [ENE 1.5 [E 3.0 |ESE 3.6 |WSW 6.2 |Z&— Wi ) F3f 45150 7.0 4.1
18.5 |11.4 |15.4 |wSW 1.5 |ssw 6.0 [s 4.1 |sw 8.7 |& SN L1) 1.4|80] 52] 5.3
19.0 [14.8 |16.5 |S 5.7 1S 6.0 |sw 5.2 1S 23.7 |’ AR F2]0.2]100]6.6]| 5.3
20.7 |12.3 [16.1 |ENE 2.1 |E 2.0 |sw 7.7 |wNw 5.7 | P i H4f12.6 |30.0 | 8.8 | 3.5
20.9 110.3 [15.1 [SW 6.2 |ssw 7.0 [N 2.6 [SSW 7.7 |WEtk MR |BEEE M |T14)111 [25.0 | 9.2 ) 3.2
21.2 [10.6 [16.2 |E 1.5 [SswW 6.0 [SW 8.2 |SSE 4.6 [HiEH4 s S H4] 9.1 |15.0 | 8.6 | 4.9
23.3 |17.0 [19.8 [ssw 6.7 |SSW  10.0 [Ssw 9.3 |sw 17.5 (%2 IR 2 & L 1] 83 [10.0 | 45| 6.6
23.5 |13.8 [19.0 |wsw 7.2 |sw 10.0 |sw 11.3 |wsw 7.2 |W§ i 2 e H1J10.3 [30.0 | 7.1 | 5.2
19.7 [12.2 |15.5 |ENE 3.6 |SSW 4.0 |SSE 5.2 |SE 5.1 |iF 5% — e |H 4]11.6 [25.0 | 8.5 | 3.6
22.2 |12.1 [17.4 |s 3.1 |sw 6.0 |sw 9.3 |Ssw 7.7 |2 |2 H4] 8.6 | 8.0 | 6.2 | 2.5
— TRk 2 34E5 A
ES % = X1 H i 3
# % & Ja 1A Ja - S| om i
(‘C) (m/s) A R[H] B R £ (C)
=0 EETE BRI 0N RS 0 9y 1 20y 15 T00O0m (06~18h) (18~%06h) | A | [ | (km) | O9FF[ 21
1§20.0 [15.1 [17.8 [SSW 6.2 [SW 8.0 [SW 5.7 [SW 20. 1 | Z 2 % [ W RFREAT | L 1] 0.0 |16.0 | L8 | L9
2§24.2 [14.6 |18.9 |N 3.6 |SE 4.0 |SSE 5.2 |WNW 21,1 [ B th—IFG H1J10.9 |10.0 | 7.6 | 4.9
3l18.2 [13.8 |16.0 [N 2.1 |ENE 5.0 |ENE 2.6 |SE 9.3 |B% Wl |4 & F3]0.0[10.0]6.9] 3.2
4)22.0 [13.5 |16.9 |E 3.6 |ESE 2.0 |sw 3.6 |W 3.6 Witk —Wyis [WERFArE  [H 3] 8.1 |16.0 [ 7.5 | 3.4
5017.8 [13.6 [15.5 [N 2.1 |NNE 3.0 [E 5.2 |SE 9.8 |2 2 F3) 1.1 250 7.0 4.6
6§20.6 [12.9 |16.5 |NE 2.1 |ENE 2.0 [E 3.1 |ESE o6 |E S F3]69[15.0[5.2] 3.2
7017.7 [15.0 |16.4 [N 1.0 |E 2.0 N 2.1 |SSE 9.8 |y~ 2 i L3joo| 70| 68]| 49
8)26.5 [13.9 [20.6 |S 1.0 |SSE 4.0 |s 3.6 |Nw 4.6 | S % —miia |H4)12.5 [10.0 | 4.5 | 2.2
9f23.6 [16.0 |19.7 |S 2.6 |s 7.0 |SSE 7.2 |w 5.1 |2 —EE |2 H4] 6.5 [15.0 | 4.8 [-0.3
10029.2 [17.5 |22.5 |SSW 6.7 |NNE 1.0 |ENE 1.0 |w 10. 3 |E=1% —RERN 58] F2) 1.0 [15.0 |-0.6 | 3.2
11§17.5 [14.2 |14.8 |E 1.5 [ENE 1.0 |E 3.1 |ESE 1.5 |f IR % & F3loo|40]49] 3.1
1216.2 [14.1 |15.4 |NNW 1.5 |N 3.0 |NNE 2.1 |SSE 5.1 |il—Wpz A L2Joo0|50]39]09
13§24.0 [16.2 [19.9 |Wsw 1.5 |ESE 3.0 [E 2.6 |Wsw 3.1 |[B% I | E% R H1| 5.4 |10.0 | 1.4 | 5.4
14§25.2 [15.5 [20.2 |SSE 6.2 |SSW 5.0 |sw 6.2 [sw 11.3 |WEm5 2~ M % H4)11.1 [12.0 | 8.3 | 3.5
15025.1 [15.9 [20.1 [sw 4.1 |Ssw 5.0 |sw 7.7 |w 2.6 |tk W H4f11.3 [30.0 | 8.9 | 5.2
16§23.4 [17.6 [20.0 [sw 5.7 |SSW 6.0 |SSW 4.6 |SSW13.9 £ = H5[ 3.2 /200 | 6.9 | 5.9
17§20.7 [14.2 [17.6 |sw 2.1 s 5.0 |Wsw 4.6 |sw 6.7 |2wwm, waees |[Z-wmakrers| F 2] 0.8 [15.0 | 7.8 | 2.5
18]23.9 [14.3 [18.6 |E 2.6 |SE 3.0 |s 3.6 |ESE 2.1 | i H4)12.9 | 5.0 7.6 | 2.9
19§25.9 [14.9 [20.4 |s 1.5 |Ssw 6.0 |sw 6.7 |sw 8.7 P i — R H4f12.9 | 8.0 | 3.8 | 3.4
20026.2 |17.9 |21.3 |[Ssw 4.1 |Ssw 4,0 |Ssw 4.6 |E 2.1 | o mE H4f12.5 [15.0 | 4.6 | 0.4
2126.6 |18.9 |21.8 |SSw 4.1 [SW 6.0 [SW 4.6 |W 5.1 |RE1&HF~ iz |iG H4]10.3 [15.0 | 1.5 | 1.1
22027.4 |15.6 |20.4 [SW 9.3 |sw 8.0 |NNW 9.3 |sw 4.6 |FEHE—FFN [N~ 2 F2] 7920 36]|17
23]18.4 |13.0 |15.6 |NNE 3.1 |NNE 2.0 |ENE 3.1 |NNE 5.1 |B#%N 51 F 3] 0.0 [30.0] 5.2 47
24]18.0 |11.8 |14.2 [N 4.6 IN 4.0 IN 2.6 [E 10.3 |FR#R2 W | L3)23]90]|51]| 24
25023.4 |12.5 |18.1 [S 2.1 s 4.0 |s 5.2 |wsw 3.1 g i H3f11.2 [20.0 | 6.5 | 2.9
26]22.3 |16.8 [19.0 [E 3.6 [E 3.0 [E 2.6 |SE 5.7 |% T F3l1.6]60]|6.6]| 5.6
27]20.4 |16.8 |18.1 [E 1.5 |wsw 2.0 |SSE 1.5 |s 6.2 | BB AN | e gegs |F 3] 0.0 [15.0] 8.4 ] 5.9
28]19.0 |16.6 |18.0 [N 4.6 IN 4.0 IN 2.6 |SE 6.7 |/ [55] F3joo|25]50] 40
29119.0 |16.5 |18.1 [E 3.1 |NNE 1.0 |NE 2.6 |NE 3.6 | KW ifi F2lo00]|30]39]30
30022.3 |16.0 |17.7 |NNW 6.2 [N 7.0 IN 7.7 |ENE 9.8 |ifd 1l —INFG L2y 21|30 42|78
ST 78T 12515 NNE R 7707 ENE 7UBTINE O E2 (o HS 5747407075767 75.78
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T2 34E6 A
Ed x e X1 B [ 3
% ) J& [ ~ | m =
(C) (m/s) A K [H] BN I E (C)
El A RS RES] 0 9 T 20 150 T00O0m| (06~18h) (18~#o6h) | A | R [ (km) [TO9FF] 21FF
1§18.2 [12.4 [15.2 |E 3.6 |S 1.0 |SE 1.5 [N 1.5 |=—HKfN IR & FR F3f o0 100 9.5] 6.0
2017.5 [14.3 [16.0 [N 1.5 N 1.0 |SE 0.5 [ssW  10.8 |fN %2 F3joo|30]37]3.4
3]24.2 |14.8 [19.2 [ESE 1.5 |SE 3.0 |SSE 2.6 |NE 4.6 |2 S5 H3] 9.5 80| 3.7| 2.7
4)26.8 [17.8 |21.8 |s 2.6 |sw 5.0 |s 6.2 |SSW 4.6 |WE#%—REHE [EE RN H4[]11.9 [10.0 | 8.5 | 4.4
5027.0 |18.5 [22.2 [NNE 1.0 [s 5.0 |SSw 3.6 |SE 0.5 |2 2 —HrREEE |F 3] 49 80| 4.3 6.8
6§28.4 [17.4 [21.9 |ENE 1.5 [ESE 3.0 [S 3.6 |\W 0.5 | e H2f12.9 | 80| 7.5 | 5.0
7023.4 [19.1 [20.9 [SE 3.1 |SSE 4.0 |s 4.6 |S 11.3 |2 & F3lo8]|50]39]3.2
8]23.3 [17.3 |19.5 |N 4.1 N 5.0 |NNE 2.1 |ENE 6.7 |NBE—FHE (& L3} 1.2 [10.0 | 5.0 | 2.8
9f25.6 |17.7 [21.1 |E 2.1 s 3.0 |sw 5.2 |SSE 0.5 |2 2 H4] 6.2 |10.0 | 6.5 | 4.8
10§26.5 [20.2 [22.8 |Ssw 3.1 |SSw 5.0 [s 5.7 |sw 3.6 |2 i 2 F3) 20150 6.8] 4.8
11]23.4 [19.5 [21.3 |w 3.6 [N 4.0 N 1.0 |WSW W PN R L2joof30]38]3.0
12§26.1 [20.1 |22.4 |N 2.6 |ESE 2.0 [sw 3.6 [SSE 6.2 |= KN —FE F3] 26|80 55| 42
13§22.7 [18.0 [20.3 |NNW 2.1 |ESE .o |E 2.6 [N 7.2 |22 [ R 4 [ F2lo02]|8o0]| 46| 35
14§23.4 [19.5 [21.1 |NE 1.5 |ENE 3.0 [E 4.1 |SSE 2.1 |2 £ F3)1.4]50| 41|35
15022.9 [19.7 [20.9 |ENE 3.1 |E 3.0 [E 4.1 |NNW 1.5 |2 2 F3) 05|20 70| 4.5
16§23.2 [17.7 [20.6 [N 1.5 [S 3.0 [S 2.1 |SSE TR F 3] 0.0 [10.0 | 7.3 | 5.8
17021.4 [17.3 |19.0 [N 4.1 |ENE 3.0 |E 3.1 |E 1.8 |HgR~2 |2 F3l00]|30]| 55|47
18§22.1 [18.3 [19.9 |s 1.5 |ssw 2.0 |SSE 2.6 |wsw 3.1 | &%l E—IFl F3]0.0[20.0] 6.0 4.4
19§24.5 [19.4 [21.3 [N 1.5 |ESE 2.0 |ESE 1.5 |SSE 1.0 |2 2 F3jot1]|70|67]| 45
20025.1 120.7 [22.9 [S 2.6 |SSW 5.0 |SSW 4.1 s 4.1 |ZH 2 [y 2R F2)o06 150 73] 35
21028.0 |22.5 [24.7 [sw 5.7 |sw 5.0 |sw 8.2 |sw 6.7 | IR it F2f 50250 23] 20
22132.2 121.3 |26.9 [E 2.6 |S 3.0 |sw 4.1 |w 6.2 |mF 2R H4)12.7 |15.0 | 3.9 [-0.6
23030.5 |25.1 |27.1 [sw 7.7 |sw 8.0 |wsw 8.2 |sw 10.8 |2 —mg  |E2 F1] 5.6 [20.0 | 1.3 ] 0.9
24130.6 |24.9 |27.4 [sw 10.8 |sw 10.0 |sw 8.2 |WSW  12.3 |#E Rl B H4] 8.8 [20.0 | 3.6 | 0.4
25031.6 |20.8 |25.4 |NE 1.5 INE 4.0 |ENE 3.6 |Ssw 1.5 |5tk [ 5 2 A2 F2016.7]15.0] 2.3/ 2.6
26]24.4 |19.8 [21.3 [ESE 1.5 [E 2.0 |E 2.1 |Ssw o R s, Beto |[F 2] 0.1 ] 3.0 2.8 ] 3.0
27026.1 |20.6 |22.9 NE 1.5 |NE 2.0 [N 1.5 |sw 11.3 |fikE BN F2100]30]27](-01
28]33.8 |24.2 |28.3 |E 1.5 |s 3.0 |ESE 3.1 |NNW 5.7 | =% i H4] 8.4 | 80| 1.3 ] 3.5
29]34.5 |24.7 |28.7 [E 2.1 |ENE 4.0 |s 3.6 |E 2.6 | B B H4f12.6 |15.0 | 6.6 | 4.6
30033.6 |22.9 [27.6 [SSE 2.1 |SSE 5.0 |s 3.6 |sw NP O —— H4] 6.4 |20.0 | 5.5 | 0.7
R 2 34E7 A
Ed x e X1 B i) “©
% ) J& [ a | m i
(C) (m/s) A &[] R R E (C)
= Y EES 0 O T 2 T 5 T0O0Om (06~18h) (18~206h) | B | R | (km) [ OOWF[ 2187
1]32.5 [24.7 |27.6 |NNE 1.2 |SE 4.0 |sw 5.2 |NNW 7.2 = T H4f 5.9 [15.0 | 5.1 | 2.8
2§31.1 [24.4 [26.8 |ENE 3.1 INE 3.0 [E 5.2 |E 4.1 | %N B — P H4] 6.1 80 6.1 ] 2.1
3]31.6 [24.6 [27.5 [SSE 2.6 |sw 5.0 |sw 5.2 |WNW 2.1 |2 I F1] 8.5 [15.0 | 5.3 | 5.1
4)32.4 [25.9 |28.1 |sw 10.3 |sw 9.0 |sw 9.8 |sw 14.4 |2%0 %L L1] 6.7 |10.0 | 80| 3.4
5032.9 [24.0 [27.7 [ssw 5.2 |SSw 4.0 |SSE 5.7 |sw 9.8 |Ig—mia i IR 2 F 2f10.6 [20.0 | 7.9 | 2.8
6)31.9 [24.1 |27.8 |E 3.1 [E 4.0 |E 2.6 |SE o[ A EiE H3J10.9 [20.0 | 6.8 | 5.2
7029.0 [23.0 [26.0 [sSw 4.1 |sw 9.0 |sw 6.2 |sw 8.2 |2 B F2) 25150 6.4 3.8
8)30.7 [26.0 |27.8 |sw 5.2 |sw 5.0 |sw 4.1 |sw 4.1 |2 & F1] 0.2 (3.0 40| 1.9
9132.5 [25.4 |27.9 |S 3.6 |SSE 5.0 |S 4.1 |ESE 3.1 Bt i H4] 7.5 [20.0 | 5.1 | 4.1
10§33.0 [24.7 [28.3 |s 4.1 |sw 4,0 |SSE 5.2 |sw 3.6 |iF i H4013.7 [30.0 | 5.2 | 3.2
1133.0 [24.7 [28.3 ]S 2.11s 5.0 |sw 4.6 1S 1.5 [ i3 H5[13.6 [30.0 | 6.0 | 4.1
12§32.6 [25.4 [28.1 |Ssw 3.1 |sw 5.0 |s 4.6 |sW 3.1 |mF i H5010.4 |25.0 | 9.3 | 5.1
13]32.4 [25.0 [28.0 |sw 3.1 |ssw 4.0 |sw 5.2 |sw 3.1 | i — P H5)12.7 |25.0 | 7.8 | 4.6
14]33.2 [24.8 [28.3 |ssw 3.1 |sw 5.0 |SSW 7.2 |WSW 4.1 |nF i H5)13.2 [30.0 | 5.8 | 3.5
15§34.0 [24.5 [28.6 |s 3.1 |SSE 4.0 |Ssw 4.1 |NNW 1.0 |pems i H4)13.6 [20.0 | 5.8 | 2.8
1633.1 [25.0 [28.6 |SSW 2.1 |SSE 5.0 |S 5.2 |sw 2.1 P L H5[13.7 |30.0 | 6.3 | 3.1
17§34.0 [25.0 [29.0 [sw 4.6 |SSW 5.0 |s 5.2 |sw 6.2 |Pui Ffe e |H4)13.7 [40.0 | 6.8 | 3.8
18]33.8 [26.9 [28.9 |sw 5.2 |SSE 5.0 |SSw 5.7 [sW 12.3 |Z&#% kil | 2% RN H5] 4.1 130.0 | 6.5 | 5.0
19§28.3 [24.2 [27.0 |SSE 6.7 |SSE 5.0 |SSE 4.6 |s 15.4 |ifind ~ 2 R 2 A2 T oo ]15.0]57]|5.1
20028.3 120.9 [25.5 [SSE 6.7 |S 6.0 |SSE 5.7 |Ssw 19.0 |fE i — e Tloo]|so]|62]21
21]23.5 ]18.2 |20.3 N 8.2 N 7.0 |NNE 4.6 INE 20,1 [ E i Tl1240]77] 71
22025.4 |17.6 [21.3 [NNE 2.6 |NE 3.0 INE 3.6 |NE 6.7 |HE—miE I 2 AR H3| 88 [30.0 [10.1 | 6.1
23]29.4 119.3 [23.3 [N 6.2 |NNE 3.0 |E 4.6 |NE 7.7 |2 e i — B [0 B H3| 3.8 [30.0 | 44| 5.2
24129.4 |22.8 |25.8 [ESE 2.6 |s 4.0 |sw 4.6 |ESE 1.0 E 3] 7.8 [20.0] 89 50
25031.1 |24.6 |27.1 [sw 3.6 |SSW 4,0 |Ssw 5.7 |ssw 6. 2 7.6 120.0 | 7.9 | 4.7
26]28.5 |25.3 [26.5 [SSw 6.2 |SSW 6.0 |SW 4.6 |SW 7.2 2.4 120,01 7.1] 0.6
27030.9 |25.2 |27.2 [SW 3.1 |sw 3.0 |SSw 4.1 |sw 1.5 1.8 |20.0 | 5.3 | 2.8
28]28.4 |24.2 |26.1 [N 2.6 |E 1.0 |SE 2.1 |w 5.7 0.0 40]37]19
29129.9 |24.3 [26.1 [SSE 1.5 |SSE 2.0 |sw 4.1 |WNW 8.7 0.8 4027129
30029.7 |23.1 [25.3 [ENE 1.5 |E 3.0 [E 2.1 |ESE 1.0 2.3 1100 | 42| 4.3
ST 2476|2249 INNE 376 INE 3707IN 5UTE 9.8 0.07|16.07"4727 755
I KR, B - B, KRR, ARROWRIE, SR Res 0BT — % 2757,
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2 34E8 A

Ed % S ES B [ u
% ) J& [ - | m =
(C) (m/s) A K [H] BN I E (°C)
=l EEEA B EES] 0 9y T 20 150 T000m| (06~18h) (18~#o6h) | A | R [ (km) [TO9FF] 21FF
1§27.8 [22.1 [|24.4 |E 3.1 |E 4.0 |E 4.1 |E 3.6 | = W 1 o H3[f 55 [10.0 | 7.1 | 3.7
2§28.7 [22.1 |25.2 |E 2.1 |NNE 1.0 |ENE 3.1 |wsw 1.5 |2 B H3| 42 1220 | 7.9 | 3.8
3130.9 [23.8 [26.5 [N 2.6 |NNE 2.0 [E 2.1 |ESE 3.1 | 2w i IRF 2 A2 H3| 4.8 |10.0 | 6.8 | 5.0
4)31.6 [24.7 |26.8 |E 4.1 N 3.0 |SE 3.6 |SE 3.6 | R [0 a R |H 3 3.9 [15.0 | 7.7 ] 6.2
5031.6 [24.6 [27.4 [SE 2.6 |SSE 4,0 |Ssw 4.1 1s 5.7 [W IR %HﬁF H3| 7.7 130.0 | 7.1 | 4.9
6]33.0 |25.7 [28.5 [SW 2.6 [SSE 4.0 [SW 3.6 [sW 3.1 %R = |2, ®zeo [HB] 7.6 [30.0 | 7.1 ] 5.5
7133.6 [26.0 [28.5 [E 1.0 |ESE 3.0 |Ssw 4.1 |NNE 1.5 [ —wms, maies |2—nH, T»#o H5) 5.7 |156.0 | 5.2 | 3.4
8)34.0 [25.4 |28.7 |E 1.5 |SSE 4.0 |s 3.6 |sw RIB I [T = S [ H4] 9.7 |15.0 | 6.2 | 4.8
9133.9 [26.4 |29.3 |N 2.1 |SSE 4.0 |sw 4.6 |sw 2.6 | e M2 [0 H4f11.6 |20.0 | 5.3 | 4.8
10§34.3 [26.5 [29.8 |\ 2.1 |Ssw 4.0 |sw 5.2 |sw 3.1 |mF i3 ) H4f12.7 [15.0 | 5.5 | 0.6
1135.2 [27.4 [30.4 |s 2.6 |SSE 4.0 |S 3.1 |wW 4.1 | I 74 R 2 H4f11.4 [20.0 | 7.2 | 2.3
12§34.9 [27.4 [30.1 |ENE 1.5 |ESE 4.0 |s 3.6 |ESE 1.5 |W§ 5% — R H4f10.2 |20.0 | 7.0 | 3.8
13]34.0 [27.1 129.2 |E 3.6 |E 3.0 |sw 4.6 |ESE 3.6 |WEHEEe HE (2 H4] 7.6 | 8.0 7.0 | 5.1
14§34.1 [26.7 [29.5 |SSW 1.5 |SSE 4.0 |SSE 5.7 |SE 2.1 |WE—mpE W H4) 8.9 | 7.0 | 7.7 | 3.7
15034.2 [26.7 [29.7 |sw 3.1 |Ssw 4.0 |SSw 5.2 INE 1.5 i i < R H4f10.5 [156.0 | 7.0 | 4.5
16§34.4 [27.1 [29.9 |Wsw 1.5 [SSE 5.0 |SSW 5.2 IN 0.5 |t~ i I 2 A H4] 5.7 |20.0 | 6.7 | 2.9
17)34.6 [27.9 |30.5 [S 1.5 |ssw 3.0 [sw 4.6 |SE 3.1 | ARG MEts —Wpis: [H4010.5 [15.0 | 6.5 | 2.0
1834.9 [28.0 [30.7 |sw 3.6 |sw 7.0 [sw 6.2 |WNW 3.1 [ — IR |2 H4J11.7 |15.0 | 6.7 | 2.8
19§32.3 [21.6 [25.4 |sw 6.2 INE 4.0 IN 2.6 |Wsw 1.0 |mamkm, Exees |HEE F2f 23 (2.0]27] 39
20025.3 |21.4 [23.0 |N 3.6 N 4.0 IN 1.5 |NNE 4.6 |Z—mE i . F2fo00 150 70| 5.5
21]21.5 119.6 [20.4 |N 5.2 IN 6.0 IN 2.6 |ENE  12.3 [fM o I 2 e F2loo|s8o]| 42] 38
22023.0 |19.8 |21.3 N 3.6 N 3.0 INE 1.5 |SE 7.2 e 2 22 F2po0o0]e60]| 32|31
23]31.6 |21.9 [25.9 [N 0.5 |SSw 4.0 |s 5.7 |ssw 12.3 1% — R F2le66]30]30]3.3
24]31.8 |24.5 |27.4 [S 3.1 |Ssw 4.0 |SSw 4.6 |SSW 9.8 e, Eefs |[F 1) 5.5 1300 [ 7.7 | 5.9
25029.2 |24.7 |26.3 [Sw 3.6 |sw 4.0 [ssw 6.7 |sw 12.9 |2 = F2f 1.7 150 | 6.1 5.1
26]31.9 123.0 [26.6 |N 2.1 |SE 3.0 |sW 4.6 |w I T —— ST F2] 56 [30.0] 65| 238
27027.9 |22.4 [24.3 [ENE 3.1 INE 2.0 |ENE 2.6 |ENE 5.1 |2 BIL W 2 I F2)o.1 1005933
28]29.9 |22.2 |25.9 INE 1.5 |E 4.0 |E 3.1 |ENE 2.6 |iF %2 H3J10.8 [20.0 | 6.0 | 2.1
29]29.2 123.7 |26.2 [N 2.6 |E 5.0 [E 4.6 |ENE 3.1 | e IR 4 [ H3] 83 [300] 7.4 2.8
30131.5 |22.5 [26.4 [N 4.6 |NE 3.0 |ENE 5.2 |E 6.7 |E#%—ReE [k E H3] 9.1 [30.0] 5.6 | 4.2
STI31787 22707965 N 4R 3707 |ENE 576 |SSE 6.7 A Py Es NS Y I ON IORON AN B
— Rk 2 34E9 A
ES x = ESl B 5 3
ES £ iR G| R El I E
(‘C) (m/s) A &I S S £ (C)
=0 EEEE BRGNS 0 9ITF T 21 T 50F T00O0m (06~18h) (18~%06h) | Z | M | (km) [ O9FF[ 210F
131.2 [25.9 [28.0 |E 3.1 |ENE 4.0 |ESE 3.6 |SSE 9.3 R [T Tl21]25.0]56]5.3
2031.7 [25.5 [28.2 [E 2.6 |SE 7.0 |SE 5.2 |SSE 15.4 b N | T 1441506571
3130.4 [26.3 [28.0 [SSE 8.2 |SSE 10.0 |SSE 7.2 |s 22.1 B T 4920 79|48
4§30.0 [24.4 [27.1 |SSE 5.7 |SSE 7.0 |s 6.2 |SSE  15.4 R & [ T 46150 7.7]6.3
5028.6 [22.9 [25.5 [SE 2.6 |S 3.0 |SE 3.1 |SSE 4.1 R 2 [ T 20]150] 69| 4.7
6§28.7 [22.1 [25.3 |NNE 3.6 [E 2.0 |SSE 3.6 |Nw 4.6 W o 2B |[H 1| 7.5 [40.0 | 5.0 | 5.6
70128.9 [21.0 |24.5 [NNE 2.1 |SE 3.0 |s 3.6 |\ 1.5 2 Mt~ & |H4] 9.8 [20.0 | 8.0 | 3.7
8]30.4 |21.5 [25.6 |Wsw 1.0 |SE 3.0 S 4.6 S 5.1 |F§#%—WEia [Wa% g |H5)11.7 [15.0 | 5.4 | 3.0
9)31.5 [24.0 |27.4 |ssw 2.6 |SSW 5.0 |sw 5.7 |sw 11.8 | 2% i H5) 7.6 [15.0 | 4.7 | 4.9
10§32.1 [25.2 [28.2 |s 2.6 |sw 6.0 |S 4.1 |NNW 1.5 | . i H5011.9 [20.0 | 5.6 | 2.4
11§31.7 |25.2 |27.7 |ESE 2.6 |ENE 5.0 |S 4.1 |SSE 1.5 [H—krE i H5] 8.4 [20.0 | 5.7 | 3.7
12§31.9 [25.5 [27.9 |SSE 2.6 |S 3.0 |Ssw 4.1 |ssw 5.1 | I H5010.9 [20.0 | 7.8 | 5.5
13§32.5 [24.9 |27.7 |sw 3.6 |s 5.0 |s 4.6 |sw 4.1 |mF i — B2 H5)10.8 [30.0 | 7.5 | 5.0
14]32.5 [24.7 |27.7 |N 2.1 |SE 4.0 |SSW 3.1 |Wsw 1.5 | I H5)11.8 |15.0 | 5.5 | 4.6
15032.3 [24.9 [27.8 |w 1.5 |SSE 4.0 |s 4.1 |ssw 5.1 |iF W% IR H5011.0 [25.0 | 6.9 | 5.2
16§31.7 [25.3 |27.6 |SSE 4.1 |SSW 4.0 [S 5.7 |sw 7.7 i [ 2hE 2 H5) 6.4 |30.0 | 8.2 | 4.6
17031, 1 [25.7 |27.7 |s 5.7 1s 6.0 |s 5.7 |SSW 12.9 |Efk g B r 2 R H5) 6.2 |20.0 | 89| 4.8
18]31.8 [25.6 [28.1 [sw 4.1 |SSW 5.0 |s 4.1 |SSW  11.3 [W & H5)11.5 [40.0 [10.3 | 2.3
19132.0 [20.8 |26.5 |N 1.5 |SSE 5.0 [SSW 3.6 [sW 1.5 |tk kg IR % 22 F 1] 8.9 (20.0 | 5.4 2.5
20021.1 |19.2 |20.1 |Nw 2.6 IN 2.0 IN 3.1 |SSW  11.8 [SEEx K F2000] 40| 09] 06
21]26.4 |17.6 [22.1 |N 4.1 |SSE 8.0 |SSE 12.9 [S 21.6 | [ Wi, amzfEs [ T | 0.0 |15.0 [-0.3 | 7.4
22029.7 119.1 |23.4 [N 1.5 |ESE 4.0 |ENE 5.2 |ENE 4.1 |wmserm, mas [ B —RER H1] 6.4 |30.0 | 6.6 | 4.7
23]22.7 |18.3 |20.4 |N 5.7 IN 5.0 [N 2.1 NE 4.6 | =% Wl G 2 R F3]31(300]6.6]3.5
24]24.7 117.3 120.7 [N 4.6 |ESE 4.0 |SE 1.5 |ENE 2.1 |FE#%—RE |2 H3| 9.3 [40.0 | 7.8 | 2.6
25024.1 |17.7 |20.6 |NE 2.1 |ENE 2.0 |E 3.6 |NNE 2.1 |22 & H3| 3.2 (3.0 7.5 3.0
26]19.7 117.3 [18.4 |N 3.6 N 4.0 N 3.1 |NE 4.6 |Z=KFx2 [ P F3foo0[300]71]3%6
27024.4 |17.7 120.0 [N 6.2 N 4.0 |ENE 5.7 INE 6.2 |ZA%rE ~ i ERE H3] 5.1 [20.0] 3.5] 3.0
28]24.7 |16.8 [20.3 [N 4.6 |NNE 4.0 |NE 2.6 |ENE 8.7 |WE—HplE |FkIic2 H3| 8.6 (300 7.4 3.0
29]25.5 |17.4 |21.2 N 3.1 |E 3.0 |ESE 2.1 INE 3.1 |mF 1% — A H3]10.9 [20.0 | 7.6 | 4.6
30028.3 119.3 [24.0 [wsw 5.2 |Wsw 7.0 |ssw 5.2 |sw 7.2 |iHgKEx 2 |2 F2) 48200 37|29
H) o RIR, B - BUE, KRR, ARROWRIE, SR REs 0BT — % 2757,
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DI Ee [ RBR] 75| 09 T 2% T 50 TOOOm| (06~18h) | (18~2o6h) | # | B | (km) [ O9FF] 21
1§24.5 [19.4 [21.9 |N 3.6 |ENE 4.0 |E 4.1 |E 3.6 | = G = F3f 1.2 [40.0 | 6.0 | 7.4
2§21.4 [17.9 |18.8 [ENE 3.6 |ENE 2.0 |E 3.1 |SSE 8.2 |B&#% R |2 F3] 1.7 ]30.0| 6.3]| 6.5
3122.6 [16.2 [18.4 [N 4.6 IN 3.0 |NNW 1.5 |w 3.6 |2HEL |2 H3| 3.5(35.0] 9.0 4.0
4f21.5 [15.0 |18.3 N 3.1 |ESE 3.0 |ESE 2.6 |SSW 1.5 |HfHE~ & %L H3) 7.2 |30.0 | 7.1 | 2.1
5019.1 [13.7 [15.4 [N 5.2 |NNW 5.0 [N 4.6 |SE 6.7 |F W A% F3loo0]|8o0]| 48] 4.5
6]24.0 [15.6 [19.9 |N 3.1 |E 3.0 [SSE 3.1 |NNW 6.2 |M§—Hpz B4 I H3| 6.5 [30.0 | 4.2 |l
7026.1 [17.7 [20.9 [N 6.2 |NNW 5.0 [N 5.7 |Nw 18.0 | W 1 IR % H1j10.2 |30.0 | 7.5 | 1.4
8)23.5 [16.8 [19.7 |ENE 1.5 |E 2.0 |s 2.6 |sw 2.1 |Zms 2 0 2w m | H 3] 6.0 [25.0 | 4.9 ] 1.4
9f22.9 [15.1 |19.3 |N 3.1 INE 2.0 |ENE 2.1 |SE 4.6 |ZWfx N IR 2 2 H3| 55 (150 6.0 | 4.3
10§24.0 [17.3 [20.1 N 1.5 |SSE 2.0 |sw 4.6 |sw 4.6 | i R 2 R H51 59150 43| 1.2
11§24.3 [16.8 [20.5 [N 2.1 |ESE 2.0 |SE 1.0 N 2.1 |4 = H3[ 42 150 | 2.5 | 4.6
12§23.3 [17.4 |20.1 |N 2.6 |ESE 3.0 |ESE 3.1 [Nw 2.1 W%~ R R H2| 87 [10.0 | 7.6 | 2.7
13§23.5 [16.7 [20.1 [N 1.5 |S 2.0 |SSW 3.6 |SSW 7.7 |2 E H5) 1.8 | 8.0 5.1 | 4.2
14§25.7 [17.1 [20.7 N 2.6 |s 3.0 s 4.1 |SSW 6.7 |FE%E IR % 22 H5] 6.3 7.0 48] 4.8
15§27.5 [20.5 [23.7 |ssw 9.3 |ssw 6.0 |SSW 7.2 |SSW  28.3 SRk Ry 2 A2 F2) 1.2 100 7.3 3.6
16§28.5 [20.4 [23.8 |SSW 6.7 |SSW 4.0 |WSw 8.8 |WSW  11.8 [H5Hrx 2= i — i H1f| 6.5 |15.0 | 3.9 | 2.4
17§24.7 [17.6 [20.9 [N 2.1 |SE 4.0 |sw 4.6 |NNE 3.1 | ey |2 H1| 5.7 |156.0 | 7.9 | 2.8
18]20.7 [16.5 |18.9 |NNE 2.6 [NE 3.0 |E 5.2 [NE 3.1 | =% M 14 = H3| 3.5 [25.0 | 6.6 | 4.1
19§17.2 [14.9 |16.0 |NNE 3.1 |NNE 3.0 |NNE 3.6 |NE 4.1 |2 L e | F3) oo |15.0]65] 209
20020.0 |14.5 |17.4 [N 6.7 N 5.0 |NNE 2.1 |ENE 6.2 = = F3]1.2(20.0]68] 438
21§20.7 |16.2 |18.0 N 4.6 |NNE 3.0 [N 3.1 |NE 5.1 =% Kl PN F3]0.0(20.0]69] 3.9
22]22.3 115.9 [19.3 [N 3.6 [N 2.0 [s 3.6 |SSW 8.7 | &M~ [y ElF 4 [ L1 1.3 250 29| 2.1
23]24.8 120.0 |21.9 [S 4.1 |SSw 5.0 |SSW 3.6 |sw 15.9 |2 —ws ke |F 2l 2.9 [20.0 | 5.6 | 4.0
24122.9 119.3 [20.6 [NNE 2.1 N 3.0 [E 2.6 [s 5.1 |2 i | R & 1 F3] 1.9 [15.0 | 5.3 | 4.3
25026.1 118.1 [21.5 |N 1.0 |sw 6.0 [sw 4.6 |sw 7.2 |WE Wi & - F 2] 84100 50| 4.9
26]20.3 113.3 [16.6 [N 4.1 |NNE 4.0 IN 3.6 |S 2.1 |iF it H1l 9.7 [30.0 | 83| 2.4
27118.3 |12.5 |15.0 [N 5.2 |E 4.0 [E 3.6 |E 3.1 | P I H3 J10.3 [35.0 | 7.6 | 2.2
28]20.0 |10.7 |15.3 [N 5.7 INE 2.0 |E 2.6 |ESE 3.6 |mF i H5010.0 [15.0 | 5.3 | 3.2
29]21.2 |11.7 |16.1 [N 5.2 INE 2.0 |ENE 2.6 |NE 9.3 |ME#% e Bke H3) 9.6 [20.0 ]| 1.3 ]| 3.6
30019.6 |14.2 |16.4 |N 3.1 N 4.0 IN 4.6 |INE 5.7 |BRf 2 IEHN R4 [ F 3] 36 (20.0]89] 4.1
K31 AN BUREH R I 16 ESE 370718 PG L P L i HS3Y 7767500071570
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